MATHS

BOOKS - MHTCET PREVIOUS YEAR
PAPERS AND PRACTICE PAPERS

APPLICATIONS OF DEFINITE
INTEGRALS



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Which of the following curve is symmetrical

about origins ?



https://dl.doubtnut.com/l/_6U9OMa04kWam

Answer: B

o Watch Video Solution

2. Which of the following curve is not

symmetrical about both the axis?



https://dl.doubtnut.com/l/_6U9OMa04kWam
https://dl.doubtnut.com/l/_7pDHjPrDxnXh

\|/
VAN

Answer: C

° View Text Solution

3. Which of the following curve is represented

byy? =1 — x?

ot
NI



https://dl.doubtnut.com/l/_7pDHjPrDxnXh
https://dl.doubtnut.com/l/_4nEk92yMDTSp
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Answer: D

o View Text Solution

4. Which of the following curve is represented

by 222 + 6zy + 5y® = 1?


https://dl.doubtnut.com/l/_4nEk92yMDTSp
https://dl.doubtnut.com/l/_CYxmTKWdA0k5

©0.¥2)

Answer: B

o View Text Solution

5.The curve xy = 1is symmetrical


https://dl.doubtnut.com/l/_CYxmTKWdA0k5
https://dl.doubtnut.com/l/_5ryrYbzGOE27

A. about x-axis

B. about y-axis

C. about both the axis

D. about origin

Answer: D

o Watch Video Solution

6. The area of the region bounded by the curve
ay2 = a:3, the Y-axis and the linesy=aand y=

2a, is


https://dl.doubtnut.com/l/_5ryrYbzGOE27
https://dl.doubtnut.com/l/_yR1z3cEAB69F

3

A =’ (2.22/3 _ 1) sq unit
2 (2/3 -
B. ga<2 — 1) sq unit

3
C. gaz (22/3 + 1) sq unit

D. None of these

Answer: A

o Watch Video Solution

7. The area bounded by the

r =2 — y — y? and Y-axis is

curve


https://dl.doubtnut.com/l/_yR1z3cEAB69F
https://dl.doubtnut.com/l/_EVGTohAFekWg

A 5 it

. 5 Sq units
B. 2 sq units
C. 3 4 units

D. None of these

Answer: C

o Watch Video Solution

8. Using integration, find the area of the
region bounded by the line 2y = 5x + 7, the x-

axis, and the lines x =2 and x = 8.


https://dl.doubtnut.com/l/_EVGTohAFekWg
https://dl.doubtnut.com/l/_sxIMTud16FYC

A. 96 sq units
B. 72 sq units

1 .
C. 135 sq units

D. 14 sq units

Answer: A

° Watch Video Solution

9. The area enclosed by y =3x-5,y=0, x =3

and x=51s


https://dl.doubtnut.com/l/_sxIMTud16FYC
https://dl.doubtnut.com/l/_dXcPPvhOXgDl

A.12 sq units
B. 13 sq units

1 .
C. 135 sq units

D. 14 sq units

Answer: D

o Watch Video Solution

10. Find by integration the area of the region
bounded by the curve y = 2z — z* and the x-

axis.


https://dl.doubtnut.com/l/_dXcPPvhOXgDl
https://dl.doubtnut.com/l/_v9ALgeBN45JQ

A 8 it
-3 sq units
B. — it
3 sq units
C. — it
3 sq units

2

D. 3 sq unit

Answer: B

o Watch Video Solution

1. The area enclosed between the curve
y=1+ acz, the Y-axis and the straight liney =

5is given by


https://dl.doubtnut.com/l/_v9ALgeBN45JQ
https://dl.doubtnut.com/l/_WObNj7A3efCF

14 :
A. 3 sq units

B. — it
3 sq units

C. 5sq units
16

D. — sq units
3 q

Answer: D

o Watch Video Solution

12. Area bounded

Yy =x,y=0,x =1,z =4is

by


https://dl.doubtnut.com/l/_WObNj7A3efCF
https://dl.doubtnut.com/l/_6A8leUNQsgBV

14 :
A. 3 sq units

‘98 sq unit

C8 it
. — sq units
3 q

Dés units
-3 q

Answer: A

o Watch Video Solution

13. The area of the region bounded by the
lines y = mx, x =1, x = 2 and X-axis is 6 sq units,

then mis equal to


https://dl.doubtnut.com/l/_6A8leUNQsgBV
https://dl.doubtnut.com/l/_6Yn83tC1ZVJE

A3

B.1

C.2

D. 4

Answer: D

o Watch Video Solution

14. The area of the region (in sq units), in the
first quadrant, bounded by the parabola

y = 9z and thelines x=0,y=Tandy=4,is


https://dl.doubtnut.com/l/_6Yn83tC1ZVJE
https://dl.doubtnut.com/l/_BpXhHRswkxtv
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Answer: D

° Watch Video Solution

1,

15. The area bounded by the curve y = 275

the X-axis and the lines x =2 is


https://dl.doubtnut.com/l/_BpXhHRswkxtv
https://dl.doubtnut.com/l/_Sq7oR0t8IN9w

A L it
-3 squni

B 2 it
-3 sq uni

C.1sq unit

D. — sq units
3 g

Answer: D

° Watch Video Solution

16. The area bounded by the curve x = 4 — Yy’

and the Y-axis is


https://dl.doubtnut.com/l/_Sq7oR0t8IN9w
https://dl.doubtnut.com/l/_5SfFhgjL5x9N

A. 16 sq units

B. 32 sq units

C 52 it
. 3 59 units

16

D. — sq units
3 q

Answer: C

o Watch Video Solution

17. Find the area bounded by the curve

zy? = 4(2 — z) and y-axis.


https://dl.doubtnut.com/l/_5SfFhgjL5x9N
https://dl.doubtnut.com/l/_EfJMa0bOVa7J

A. 2w sq units

B. 47 sq units

C. 127 sq units

D. 67 sq units

Answer: B

o Watch Video Solution

18. The area bounded by the curve

92(2CL — a:) — z3 and the linex=2ais


https://dl.doubtnut.com/l/_EfJMa0bOVa7J
https://dl.doubtnut.com/l/_dqmETCq1pUat

A. 3ma’ sq units

3ra’

sq units

3ra’

sq unit

6mra’

D.
5

sq units

Answer: B

o Watch Video Solution

19. The area of the smaller segment cut off

from the circle z* + 4> = 9byx=1is


https://dl.doubtnut.com/l/_dqmETCq1pUat
https://dl.doubtnut.com/l/_pxf1O6Hj8ZWC

(9sec™* 3 — 4/8) sq unit

1
2
1 1

E(QSGC 3 — +/8) sq unit

C. (v/8 — 9sec™ ' 3) sq unit

D. None of the above

Answer: B

o Watch Video Solution

20. Find the area of the smaller part of the

circe z? +y? = a’cut off by the line


https://dl.doubtnut.com/l/_pxf1O6Hj8ZWC
https://dl.doubtnut.com/l/_zLDUq5sMrsMW

a
r=—
V2
AS(Z g it
.2(2 + )squnls
5. % (T it
© 3 (2 — )squms
™ .
C.a(E — 1) sq units
D. None of these
Answer: B

0 Watch Video Solution



https://dl.doubtnut.com/l/_zLDUq5sMrsMW

21. Find the area bounded by the curve

z? = 4y and the straight line z = 4y — 2.

A9 it
. — sq units
3 q

B 5 it
. g sauni
1

C. = it
g squni

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GabMgGv9wqIZ
https://dl.doubtnut.com/l/_GN9YHzbbeKhB

22, The area bended by the curve
y=x’+2y=z,z = 3 and y-axis is
A ) it
. 5 squni
B.9 sq unit
C.21sq unit
21

D. — it
5 59 uni

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GN9YHzbbeKhB

23. The area (in square units) bounded by the

curve y* = 8z and z® = 8y, is

A. 64 sq units

B 6—45 units
-3 q
C 8 it
. — s units
3 g

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_WmU0PJIfGnAv
https://dl.doubtnut.com/l/_9tBDL5aPJ7wq

24. The area bounded by the curves y? = 4z

and 2% = 4y

A. 0 sq units

8 32 "
. 3 59 units

C 16 it
.3~ Sq units

D. — sq units
3 q

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9tBDL5aPJ7wq

25. The area bounded by the parabola

y* = 8z, the x-axis and the latusrectum, is

A.16/3
B.32/3
C.8/3

D.64/3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_K57Og5MjeM1F
https://dl.doubtnut.com/l/_IdBuQI2XlkFl

26. The area (in sq unit) of the region enclosed

2 3

by the curves y = 2“ and y = z" is

1

A.
12

B

1
6
1
C.5

D. 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IdBuQI2XlkFl

27. Area bounded by the curve y* = 16z and

2
liney=mxis g,then m is equal to

A3
B.4
C.1

D.2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Mp7UvxG0qKVX
https://dl.doubtnut.com/l/_NfisEEaV8pq4

28. Area included between curves

y=x>—3z+2and y= — %+ 3z — 2is

A L it
-5 s uni

B L it
. 5 sq uni

C.1squnit

D L it
-3 squni

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NfisEEaV8pq4

29. The area enclosed between the curves

y =z and y = 2z — 2z (in square units), is

>

N = i VI

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_sRE5BIuVs30x
https://dl.doubtnut.com/l/_lWQqU0LHLmR5

30. Sketch the region bounded by the curves

y=+/5—2° and y = |z — 1] and find its

area.

5% ,
A. (T — 2) sq units

(b — 2) .
B. 1 sq units

(5 —2) .
C. 5 sq units

p. (L _ 5 it
.(2— )squnls

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lWQqU0LHLmR5
https://dl.doubtnut.com/l/_lUOf8B4p0mCP

31. Area lying in the first quadrant and
bounded by the circle z* + y* = 4 the line

r = /3y and x-axis , is

A. T sq units

B7T it
. = sq units
5 =9

C7T it
. = sq units
3 g

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lUOf8B4p0mCP

32. The area of the region bounded by y* = z

andy =|x| is

A . it
-3 squni

B 1 it
. g sauni
2

C. 3 sq unit

D.1sq unit

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NDHhleDzFVi9
https://dl.doubtnut.com/l/_8A4A5ovc3qXS

33, R y = 22 U9 y=|x| & fR &3 &1 da%ha
SiTd BIfIV |

A . it
. 5 squni

B L it
.3 sq uni

C 2 it
-3 squni

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_8A4A5ovc3qXS

34. The area bounded between the parabola

y2 = 4z and the line y = 2x - 4 is equal to

A 17 sq units

-3 q

. 19 "

L n
3 sq units

C.9sq units

D. 15 sq units

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iTJ0IE7boEib
https://dl.doubtnut.com/l/_yhnyo6yur8ph

35. The area enclosed between the curves

y:w3andy:\/5is

A5 it
. 3 59 units

B. — sqg units
A g

D) sq unit

12

D. — sq units
5 q

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yhnyo6yur8ph

36. The area bounded by the curves y = z°

andy=xis
A.1/2squnit
B.1/4 sq unit
C.1/8sq unit

D.1/16 sq unit

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pnlyGXDIprKn
https://dl.doubtnut.com/l/_NBERuFZ1esSS

37. Find the area bounded by the curve
y =z + x and the lines x = 0 and x = a.
Hence, fnd the greatest or least area which is

applicable.

a’ a’
A. Area = ? + 7, least are a = 0 sq. units,

1

greatest area = 6 sq units

B.Area = a’ + a®, least area a = O sq.
. 1 .
units, greatest area — b) sq units
as

C.Area = 3 + a, least are a = 0 sq units

greatest area = — sq units

4


https://dl.doubtnut.com/l/_NBERuFZ1esSS

D.Area = a’ + 1, least are a = 1 sq units

greatestarea = 6 sq units

Answer: A

o Watch Video Solution

38. Find the area bounded by the curve y = cos
x + 1 and the lines x = 0 and x = a. Hence find

the greatest area

A. Area =sin a, Greatest area = 2 sq units


https://dl.doubtnut.com/l/_NBERuFZ1esSS
https://dl.doubtnut.com/l/_udI9YW83SeIs

B. Area = cos a, Greatest area = 2 sq units

C. Area = sin a, Greatest area =1sq units

D. Area = cos a, Greatest area =1sq units

Answer: C

o Watch Video Solution

39. Find the area included between the line

y =  and the parabola z* = 4y.

A8 it
- 3 5q units


https://dl.doubtnut.com/l/_udI9YW83SeIs
https://dl.doubtnut.com/l/_4dK6g7T2Ms71

B. — sq units
3 >
C. — sq units

4

D. — sq units
3 g

Answer: A

o Watch Video Solution

40. The area bounded by the

r =2 — y — y and Y-axis is

A ) it
. 5 squni

curve


https://dl.doubtnut.com/l/_4dK6g7T2Ms71
https://dl.doubtnut.com/l/_kwL6a6xoB2nS

B 2 it
3 sq uni
C. 1 sq units

D5 it
. — sq units
3 q

Answer: A

o Watch Video Solution

41.Find the area of the region bounded by the
parabola y* = 4az, its axis and two ordinates

r=4andx =9


https://dl.doubtnut.com/l/_kwL6a6xoB2nS
https://dl.doubtnut.com/l/_E579BNGPMj56

864/b
3

76y/a

A.

sq units

B.

sq units

92./a
C. \/_

sq units

93v/b

D. sq units
3 g

Answer: B

o Watch Video Solution

42. Using integration, find the area of region
bounded by the line 2x + y = 8, the y-axis and

the linesy=2and y = 4.


https://dl.doubtnut.com/l/_E579BNGPMj56
https://dl.doubtnut.com/l/_VewPtOJDYcGR

A. 5 sq units

B.9 sq unit

C. 6 sq units

D. 2 sq units

Answer: A

o Watch Video Solution

43. Determine the area enclosed by the two

curves given by ¢ ==z+1 and

' = —z+1


https://dl.doubtnut.com/l/_VewPtOJDYcGR
https://dl.doubtnut.com/l/_CviffmjGmAw9

A S it
- 3 Sq units
B. — it
3 sq units

C. 7 59 units

D. — sqg units
3 g

Answer: A

o Watch Video Solution

44. The area of the region bounded by the
curves y* = 4a*(x — 1) and the lines x = 1 and

y=4a,is


https://dl.doubtnut.com/l/_CviffmjGmAw9
https://dl.doubtnut.com/l/_O9LOuPAH3OGR

21a ,
A 5 sq unit

B 16 it
.3 squni

17a :
C. 3 sq unit

16a

D. 3 sq unit

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_O9LOuPAH3OGR

1. Find the area under the curve y = /x — 1
in the interval [1, 5] between the lines x =1 and

X=5,1s

Ais units
-3 q

B. — sg units
3 g

C 16 it
. 3 59 units

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xcoI2SYvA4JQ

2. If a curve y = a /T + bx passes through
the point (1,2) and the area bounded by the

curve, line x =4 and X-axis is 8 sq units, then

Aa=3,b=-1
B.a=3,b=1
C.a=-3,b=1
D.a=-3,b =-1
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8011Nx5NNAiw

3. What is the area bounded by the curves
y=¢€e",y = e " andthestraightlinez =17
Ae—+ —
1
B.e + — 4 2
1
Ce+——2

1
D.e — — + 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_PngLjhX3iSDy
https://dl.doubtnut.com/l/_tKcsvv1nR1v2

4. The area between the curve y = 2z* — 22,

the x-axis, and the ordinates of the two

minima of the curve is

T
120

9
120
11
120

13
"~ 120

sq unit

sq unit

sq unit

D sq unit

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_tKcsvv1nR1v2
https://dl.doubtnut.com/l/_fnAHrnECSAR2

5. The area bounded by the curve y = In(x)
and the lines y = 0,y = In(3) and £ =0 is
equal to

A. 3 sq units

B.3 In (3) - 2sq units

C.31In (3) + 2 sq units

D. 2 sq units

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fnAHrnECSAR2

6. The area bounded between the parabolas

r? = 2andar:2 = 9y and the straight line

4
o¢‘()2mf

y=2is (1) 20v/2 (2)

10+/2

A. 20+/2 sq units

10+/2

sq units

20+/2
C. V2

sq units

D. 104/2 sq units

Answer: C

I ° Watch Video Solution


https://dl.doubtnut.com/l/_ZtKztFjKFg4W

7. The area of the figure bounded by the

curvesy’ =2z +landz —y—1=0,is

A2 it
- 3 Squnits

B. 3 sq units
C. 3 sq units
16

D. — sq units
3 q

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZtKztFjKFg4W
https://dl.doubtnut.com/l/_9fxqV5itMrn7

8. The area of the plane region bounded by
the curves £ +2y* =0 and = + 3y* =1 is

equal to

A4s units
.3q

B ° it
. = sq uni
3 q

C 1 it
.gsq uni

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9fxqV5itMrn7
https://dl.doubtnut.com/l/_seUIIWWXFMCW

9. The area enclosed between the
y=z>andy = VT is

A5 it
. 3 59 units

B > it
. 7 Sq units

‘19 sq unit

12 ,
D. 5 sq units

Answer: C

curves

° Watch Video Solution



https://dl.doubtnut.com/l/_seUIIWWXFMCW
https://dl.doubtnut.com/l/_klELPBoUBsZa

10. The area enclosed between the parabola

y:xz—gc—|—2andtheIiney=X+2(in sq

unit) equals to
A.8/3
B.1/3
C.2/3

D.4/3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_E1CTPVBp5KhC

1. The area bounded by the curves

y* = 4a*(z — 1) and linesx=1and y=4ais

A. 4a? sq units

16a ,
B. 3 sq units

16a° :
C. sq units

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_E1CTPVBp5KhC
https://dl.doubtnut.com/l/_KnVsVS05ASG8

12. The area bounded by the curves y = cos x

and y = sin x between the ordinates x = 0 and

A. (4\/5 — 2) sq units
B. (4\/5 + 2) sq units
C. (4\/5 — 1) sq units

D. (4\/5 + 1) sq units

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qsjfOk86w0ok

13. The area of the plane region bounded by
the curve z = y* — 2 and the line y = - x is (in

sq units)

© >
NIt NN|O O DN —
| | 0 o) 2

N

o

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_nL008CzDSc8Z

14. The area bounded by the

y = 2z — z° and the liney =-x s

A3 it
. 5 sq units

B. — sq units
3 q

C. — sqg units
9 g

D. None of these

Answer: C

curve

o Watch Video Solution



https://dl.doubtnut.com/l/_n31g70z4zzyU
https://dl.doubtnut.com/l/_tGfmqjeC6wbo

15. For 0 < x < m, the area bounded by

y=xandy = + sinx, is

A2

B.4

C. 27

D. 47

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_tGfmqjeC6wbo

16. If the area above the x-axis, bounded by the
3
log, (2)

curves y = 28 and x = 0, and x = 2 is

’

then the value of k is

A.1/2
B. 1
C.—1

D. 2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_klGezfXpqsxp

17. The area of the region described by
A= {(m,y):x2+y2 <1 and y* < 1—.:1:}

is

_|_

Wl wln Wik W

o
MY 3 ) Y

_|_

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9N6HmJfGzIsy

18. The area in the first quadrant between

z? +y> =nw’andy = sinz is

T — 8
4
3

B. — sqg units
A q

73 — 16 :
C. 1 sq units

sq units

T — 8

2

sq units

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IpRpnaBAdjai
https://dl.doubtnut.com/l/_mJXKLBhxncGq

19. The area bounded by the curves
Yy = /Z,2y —z + 3 =0, X-axis and lying in
the first quadrant is

A9

B.36

C.18

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mJXKLBhxncGq
https://dl.doubtnut.com/l/_EfS06djL1xpJ

20. The area bounded by y = [sin x|, X-axis and
the line |z| = 7is

A. 2 sq units

B. 3 sq units

C.4 sq units

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_EfS06djL1xpJ

21. Find the area bounded by the x-axis, part of

8
the curve y = (1 — —2> , and the ordinates
x

at £ = 2andx = 4. If the ordinate at £ = a
divides the area into two equal parts, then find

a-

A. v/2 sq units
B. 24/2 sq units
C. 34/2 sq units

D. None of these

Answer: B


https://dl.doubtnut.com/l/_Zlstk0zNXXc3

° Watch Video Solution

22. The area bounded by the graph of
y = f(x), f(x) > 0 on [0,a] and x-axis is

sina + %cos a then find the value of


https://dl.doubtnut.com/l/_Zlstk0zNXXc3
https://dl.doubtnut.com/l/_q3Inu7X2Gl6P

Answer: A

o Watch Video Solution

23. The line xz = % divides the area of the

region bounded by y = sin x, y = cos x and X-
axis (O <z < g) into two regions of areas
A; and A,.Then, A;: A5 equals

A4d:1

B.3:1

C.2:1


https://dl.doubtnut.com/l/_q3Inu7X2Gl6P
https://dl.doubtnut.com/l/_YAvGlVdBNaSB

D.1:1

Answer: D

° Watch Video Solution

24.The area bounded by the curve y = z|x|, x-

axis and the ordinates x=1,x=-1is given by

A. 0 sq units

B 1 it
.— S NITtS
3 >q¢

C2 it
.3 59 units


https://dl.doubtnut.com/l/_YAvGlVdBNaSB
https://dl.doubtnut.com/l/_QLkmS6kxcPWG

D. None of these

Answer: C

o Watch Video Solution

25. The area (in sq units) of the region
bounded by the curves y = e,y = log, x and

linesx=1,x=2is


https://dl.doubtnut.com/l/_QLkmS6kxcPWG
https://dl.doubtnut.com/l/_FXPxmkwNrdfU

C.e’ —e+1—2log, 2

D.e? + e — 2log, 2

Answer: C

° Watch Video Solution

26. The area (in sq units) of the region
described by

{(:zz,y):y2 <2z and y > 4z — 1} is


https://dl.doubtnut.com/l/_FXPxmkwNrdfU
https://dl.doubtnut.com/l/_1isgkNcjd8rw

Answer: D

o Watch Video Solution

27.The larger of the area bounded by y = cosx,

y=x+landy=0is

A L it
. 5 squni


https://dl.doubtnut.com/l/_1isgkNcjd8rw
https://dl.doubtnut.com/l/_JQ00ikQsOKnV

B. — sq units
> q
C.1sq unit

D. 2 sq units

Answer: B

o Watch Video Solution

28. The parabola y* = 2z divides the circle
z? + y® = 8 in two parts. Then, the ratio of

the areas of these parts is


https://dl.doubtnut.com/l/_JQ00ikQsOKnV
https://dl.doubtnut.com/l/_asE3Vi3hV9Nk

3m — 2
A 10 + 2

3m+ 2
B.

O — 2

o6 — 3
¢ 11r — 5

2m — 9

I + 2

D.

Answer: B

o Watch Video Solution

29. The figure shows a AAOB and the

parabola y = z2. The ratio of the area of the

AAOB to the area of the region AOB of the


https://dl.doubtnut.com/l/_asE3Vi3hV9Nk
https://dl.doubtnut.com/l/_cTR73hjB3RfW

2

Is equal to

parabolay = x

>

S|ot ol B|w o w

Answer: B



https://dl.doubtnut.com/l/_cTR73hjB3RfW

o Watch Video Solution

30. The area bounded

y = sin" 'z, x = — and X-axis is

NG

(— + 1) sq units
< ) sq units

sq units

4
< 1) sq units

Answer: D

by



https://dl.doubtnut.com/l/_cTR73hjB3RfW
https://dl.doubtnut.com/l/_2god3hWj4tYP

I o Watch Video Solution

31. Find the area of the region bounded by the

2 2

ellipse a; + y4 = 1in fourth quadrant.

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_2god3hWj4tYP
https://dl.doubtnut.com/l/_KOuj9z8H0fiD

32. The area bounded by the curves

y*> = 4a(z + a) and y? = 4b(b — z), where

a,b > 0units

(a + b)+/ab sq unit

(a + b)+/ab sq unit

wlm wlw ooloo

(a + b)2+/ab sq unit

D. None of the above

Answer: A



https://dl.doubtnut.com/l/_KOuj9z8H0fiD
https://dl.doubtnut.com/l/_pI2JV6XxJIs3

| ' Watch Video Solution |

33. Find the area bounded by the curve

y = 2z — x” and the straight liney = — x

A 13 "
. - sq uni

B ) it
.Esq uni

C7s unit
.2q

21

D. — it
5 9 uni

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pI2JV6XxJIs3
https://dl.doubtnut.com/l/_NKzFMPamW3nR

34. Find the area of the smaller region

22 o
bounded by the ellipse 9 + T 1 and the

x oy
line= + = = 1
ine 3 9

>
w

%
w
/N /N /N /N

q>|=l c.o|>1 m|>1 4>|=1
—t

[
N— e N N

sq unit

sq unit

N
N
(O]

sq unit

O
@
l\D

sq unit

Answer: B

I €@ Watch Video Solution


https://dl.doubtnut.com/l/_NKzFMPamW3nR
https://dl.doubtnut.com/l/_Iof5TzBGa8xk

Mht Cet Corner

1. Find by integration the area of the region
bounded by the curve y = 2z — z* and the x-

axis.

A 2 it
- 3 9. units

B. — sqg. units
3 q

C. — sg. units
3 g

D8 it
. — Sg. units
3 q


https://dl.doubtnut.com/l/_Iof5TzBGa8xk
https://dl.doubtnut.com/l/_5oNJKkP9wyqr

Answer: B

o Watch Video Solution

2. The area of the region bounded by the
curves 22 + y* = 8 and y? = 2z (in sq. unit)
is
A2m + —
B.m+ —

C.2m+ —

D.m+ —


https://dl.doubtnut.com/l/_5oNJKkP9wyqr
https://dl.doubtnut.com/l/_g8tsi7DzzCpu

Answer: C

o Watch Video Solution

3. The area of the region bounded by the

curves y2 = 8z and y = x (in sq unit) is

64
A —

N}

3
B, 52
3
o 16
"3
p.>
3


https://dl.doubtnut.com/l/_g8tsi7DzzCpu
https://dl.doubtnut.com/l/_K9L0j2AoZ170

Answer: B

o Watch Video Solution

4. The area bounded by the parabola y* = z,

straight line y = 4 and y-axis is

A.16/3

B.64/3

C.7/2

D. None of these


https://dl.doubtnut.com/l/_K9L0j2AoZ170
https://dl.doubtnut.com/l/_clDWnCtT35Pa

Answer: B

o Watch Video Solution

5. The volume of the solid formed by rotating
the area enclosed between the curve
y? = 4z, 2 = 4 and x = 5 about X-axis is (in
cubic units)

A 187

B. 367

C.9m


https://dl.doubtnut.com/l/_clDWnCtT35Pa
https://dl.doubtnut.com/l/_xt0TBP9cRDah

D. 247

Answer: A

o Watch Video Solution

6. Area bounded between the curve z° = Y

and the liney=4xis

32 .
A. 3 sq units

B L it
-3 sq uni

C. — sq units
3 g


https://dl.doubtnut.com/l/_xt0TBP9cRDah
https://dl.doubtnut.com/l/_5cUek0xdUGCI

D 16 it
. 3 59 units

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5cUek0xdUGCI

